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OO0 @UUOO000000020000E21.Acompany can
produce item A with no more than 800 per day and item B no more
than 400 per day. If the company can see product A $10 profit each
and sell product B $4 profit each. The company can sell no more
than 1000 items each day. Which is the following can make the
company have the maximum profit per day. 1. 900 A, and 100 B 2.
800 A, and 200 B 3. 700 A, and 300 B 4. 600 A, and 400 B 5. 500 A,
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00O O $1028.If nisan integer and 2 (1) nis afactor of 15. (2) nisa
factor of 21. 29. Each of the 45 boxes on shelf J weighs less than each
of the 44 boxes on shelf K. What is the median weight of the 89 boxes
on these shelves? (1) The heaviest box on shelf J weighs 15 pounds.
(2) The lightest box on shelf K weighs 20 pounds. 30.S LI n(] [J [0 [
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